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COORDINATE GEOMETRY

1. Find the distance between the following

pairs of points :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_S8TlN0exKIf7

(2,3),(4,1)

o Watch Video Solution

2. Find the distance between the following
pairs of points :

(-5,7), (-1, 3)

o Watch Video Solution

3. Find the distance between the following

pairs of points :


https://dl.doubtnut.com/l/_S8TlN0exKIf7
https://dl.doubtnut.com/l/_ozU7GeE6q4aj
https://dl.doubtnut.com/l/_fTFwvfZVUdan

(a, b), (-a, -b)

o Watch Video Solution

4. Find the distance between the points (0O, 0)

and (36, 15).

° Watch Video Solution

5. Determine if the points (1, 5), (2, 3) and (-2,

-11) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_fTFwvfZVUdan
https://dl.doubtnut.com/l/_tC5Vkgl3wboZ
https://dl.doubtnut.com/l/_3CjY8YiLcyoo

6. Check whether (5, -2), (6, 4) and (7, -2) are the

vertices of an isosceles triangle.

o Watch Video Solution

7. In a classroom, 4 friends are seated at the
points A. B. C and D as shown in Fig. 7.8.
Champa and Chameli walk into the class and

after observing for a few minutes Champa asks


https://dl.doubtnut.com/l/_3CjY8YiLcyoo
https://dl.doubtnut.com/l/_9ALSrT687yMO
https://dl.doubtnut.com/l/_f3npZyyGm9eu

Chameli, "Don't you think ABCD is a square?"

Chameli disagrees. Usi

° Watch Video Solution

8. Name the type of quadrilateral formed, if
any by the following points, and give reasons
for your answer :

(-1,-2), (1,0), (-1, 2), (-3, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_f3npZyyGm9eu
https://dl.doubtnut.com/l/_gxFmWFpNhDRr

9. Name the type of quadrilateral formed, if
any by the following points, and give reasons
for your answer :

(-3, 5), (3, 1), (0, 3), (-1,-4)

o Watch Video Solution

10. Name the type of quadrilateral formed, if
any by the following points, and give reasons
for your answer :

(4, 5),7,6),(4,3),(1,2)

| & I


https://dl.doubtnut.com/l/_4jIe8EbcgiRR
https://dl.doubtnut.com/l/_GqIu2iwRxRPv

| ¥ Watch Video Solution |

1. Find the point on the x-axis which is

equidistant from (2, -5) and (-2, 9).

o Watch Video Solution

12. Find the values of y for which the distance
between the points P(2, -3) and Q(10, y) is 10

units.

o Watch Video Solution



https://dl.doubtnut.com/l/_GqIu2iwRxRPv
https://dl.doubtnut.com/l/_79jiQ03KPoV1
https://dl.doubtnut.com/l/_Itw0MlRlOEu7

13.1f Q(O, 1) is equidistant from P(5, -3) and R(x,
6), find the values of x. Also find the distances

QR and PR.

o Watch Video Solution

1. Find the corrdinates of the point which

divides the join of (-1, 7) and (4, -3) into the

ratio 2 : 3 internally.

| e |


https://dl.doubtnut.com/l/_kqH2wFyHQGE4
https://dl.doubtnut.com/l/_Wqrgznoa9LxR

& watch Video Solution I

2. Find the coordinates of the points of
trisection of the line segment joining (4, -1)

and (-2, -3).

° Watch Video Solution

3. To conduct Sports Day activities, in your
rectangular shaped school ground ABCD, lines
have been drawn with chalk powder at a

distance of 1m each. 100 flower pots have been


https://dl.doubtnut.com/l/_Wqrgznoa9LxR
https://dl.doubtnut.com/l/_tMh1MAFOL1T8
https://dl.doubtnut.com/l/_bSTEQ6pwIwKe

placed at a distance of Im from each other

along AD, as shown in Figur

° Watch Video Solution

4. Find the ratio in which the line segment
joining the points (-3, 10) and (6, -8) is divided

by (-1, 6).

° Watch Video Solution



https://dl.doubtnut.com/l/_bSTEQ6pwIwKe
https://dl.doubtnut.com/l/_09dSLgxem2Br

5. Find the ratio in which the line segment
joining A(1, -5) and B(-4, 5) is divided by the x-
axis. Also find the coordinates of the point of

division.

° Watch Video Solution

6. If (1, 2), (4, 3), (x, 6) and (3, 5) are the vertices

of a parallelogram taken in order, find x.

o Watch Video Solution



https://dl.doubtnut.com/l/_7HASE3GCwu8d
https://dl.doubtnut.com/l/_NsZyE2smfJ4S
https://dl.doubtnut.com/l/_tzPyQKM6IhoJ

7. Find the coordinates of a point A, where AB
is the diameter of a circle whose centre is (2,

-3) and B is (1, 4).

o Watch Video Solution

8.1f A and B are (-2, -2) and (2, -4), respectively,
find the coordinates of P such that AP

3
= 7AB and P lies on the line segment AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_tzPyQKM6IhoJ
https://dl.doubtnut.com/l/_wYeBeOVPxdaO
https://dl.doubtnut.com/l/_dg3xkPqlulLV

9. Find the coordinates of the points which
divide the line segment joining A(-2, 2) and B(2,

8) into four equal parts.

o Watch Video Solution

10. Find the area of a rhombus if its vertices
are (3, 0), (4, 5), (-1, 4) and (-2, -1) taken in order.
[Hint : Area of a rhombus = ) (product of its
diagonals)].

° Watch Video Solution



https://dl.doubtnut.com/l/_dg3xkPqlulLV
https://dl.doubtnut.com/l/_gTgqkbVEYb2T

1. Find the area of the triangle whose vertices
are:

(2,3),(-1,0),(2,-4)

° Watch Video Solution

2. Find the area of the triangle whose vertices
are:

(-5,-1), (3, -5), (5, 2).

I ° Watch Video Solution


https://dl.doubtnut.com/l/_xjJxRGQGtXeB
https://dl.doubtnut.com/l/_X22tey7LZ65k

3. In each of the following find the value of 'k,
for which the points are collinear.

(7,-2),(5,1), (3, k)

o Watch Video Solution

4.n each of the following find the value of 'k,
for which the points are collinear.

(8, 1), (k, -4), (2, -5).

o Watch Video Solution



https://dl.doubtnut.com/l/_X22tey7LZ65k
https://dl.doubtnut.com/l/_24hcpOfL31Re
https://dl.doubtnut.com/l/_5tMddhwrRfDD

5. Find the area of the triangle formed by
joining the mid-points of the sides of the
triangle whose vertices are (0, -1), (2, 1) and (O,

3). Find the ratio of this area to the area of the

given triangle.

o Watch Video Solution

6. Find the area of the quadrilateral whose
vertices, taken in order are (-4, -2), (-3, -5), (3, -2)

and (2, 3).


https://dl.doubtnut.com/l/_5tMddhwrRfDD
https://dl.doubtnut.com/l/_7Lozyxd1KKNY
https://dl.doubtnut.com/l/_1iho5Cvbhojo

° Watch Video Solution

7. You have studied in Class IX, (Chapter 9,
Example 3), that a median of a triangle divides
it into two triangles of equal areas. Verify this
result for AABC whose vertices are A(4, -6),

B(3,-2) and C(5, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_1iho5Cvbhojo
https://dl.doubtnut.com/l/_FlmG9FhNzhFG
https://dl.doubtnut.com/l/_xJupAqwG9JHr

1. Determine the ratio in which the line 2x +y -
4 = 0 divides the line segment joining the

points A(2, -2) and B(3, 7).

|
| | |

|
A(2,-2) C B(3.-7)

o Watch Video Solution

2.Find a relation between x and y if the points

(%, ¥), (1,2) and (7, 0) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_xJupAqwG9JHr
https://dl.doubtnut.com/l/_9gJIPhxrf0Bw
https://dl.doubtnut.com/l/_iY3KI8wgVSs0

3. Find the centre of a circle passing through

the point (6, -6), (3,-7) and (3,3).

o View Text Solution

4. Two opposite vertices of a square are
(—1, 2) and (3, 2) . Find the coordinates of

other two vertices.

o Watch Video Solution



https://dl.doubtnut.com/l/_iY3KI8wgVSs0
https://dl.doubtnut.com/l/_2BPnBFTQtzvY

5. The Class X students of a secondary school
in  Krishinagar have been allotted a
rectangular plot of land for their gardening
activity. Sapling of Gulmohar are planted on
the boundary at a distance of Im from each

other. There is a triangular gr

o Watch Video Solution

6. The Class X students of a secondary school

in  Krishinagar have been allotted a


https://dl.doubtnut.com/l/_2XyuAnpNlmIe
https://dl.doubtnut.com/l/_ILFUQEqwE2gm

rectangular plot of land for their gardening
activity. Sapling of Gulmohar are planted on
the boundary at a distance of Im from each

other. There is a triangular gr

° Watch Video Solution

7. The vertices of a A ABC are A (4,6), B (1, 5)
and C (7,2). A line is drawn to intersect sides

AB and AC at D and E respectively, such that

AD _AB Calculate th f A
1B AC 1 alculate the area o

ADE and compare it with area of A ABC

| = |


https://dl.doubtnut.com/l/_ILFUQEqwE2gm
https://dl.doubtnut.com/l/_2NmM30G0NVqy

I &9 Watch Video Solution I

8. Let a(4, 2), B(6, 5) and C(1, 4) be the vertices
of AABC.
The median from A meets BC at D. Find the

coordinates of the point D.

o Watch Video Solution

9. Let a(4, 2), B(6, 5) and C(1, 4) be the vertices

of AABC.


https://dl.doubtnut.com/l/_2NmM30G0NVqy
https://dl.doubtnut.com/l/_QvCmklSzPFMN
https://dl.doubtnut.com/l/_w10ANzr3As5b

Find the coordinates of the point P on AD such

that AP: PD=2:1.

° Watch Video Solution

10. Let a(4, 2), B(6, 5) and C(1, 4) be the vertices
of AABC.

Find the coordinates of points Q and R on
medians BE and CF respectively such that BQ :

QE=2:1and CR:RF=2:1.

° Watch Video Solution



https://dl.doubtnut.com/l/_w10ANzr3As5b
https://dl.doubtnut.com/l/_1cYoRWioy7l9
https://dl.doubtnut.com/l/_oCaB8dLDEQLv

1. Let a(4, 2), B(6, 5) and C(1, 4) be the vertices
of AABC.

What do you observe ? [Note : The point which
is common to all the three medians is called
the centroid and this point divides each

median in the ratio 2 : 1]

o Watch Video Solution

12. Let a(4, 2), B(6, 5) and C(1, 4) be the vertices
of AABC.

If A(z1, 1), B(%2, 42) and C(z3, y3) are the


https://dl.doubtnut.com/l/_oCaB8dLDEQLv
https://dl.doubtnut.com/l/_05nC9HtQ2Ile

vertices of AABC, find the coordinates of the

centroid of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_05nC9HtQ2Ile

